

$$\gamma \wedge \# = \gamma \#$$

$$\gamma \vee \# = \gamma + \# - \gamma \#$$

$$\bar{\gamma} = e^{-\gamma}$$

$$\overline{\gamma \vee \#} = e^{-\gamma \vee \#} = \underbrace{e^{-\gamma}} e^{-\#} = \bar{\gamma} \wedge \bar{\#}$$

$$\begin{cases} \gamma \wedge \# = \# \wedge \gamma \\ \gamma \vee \# = \# \vee \gamma \end{cases}$$

$$\gamma \wedge \# = \gamma \# \stackrel{\text{comm}}{=} \# \gamma = \# \wedge \gamma$$

$$e^{-\gamma \vee \#} = \underbrace{e^{-\gamma}} e^{-\#} \stackrel{\text{comm}}{=} \underbrace{e^{-\#}} e^{-\gamma} = e^{-\# \vee \gamma}$$

$$\begin{cases} \underbrace{\gamma \wedge \#} \wedge \# = \gamma \wedge \underbrace{\# \wedge \#} \\ \underbrace{\gamma \vee \#} \vee \# = \gamma \vee \underbrace{\# \vee \#} \end{cases}$$

$$\underbrace{\gamma \wedge \#} \wedge \# = \underbrace{\gamma \#} \# \stackrel{\text{ass}}{=} \gamma \underbrace{\# \#} = \gamma \wedge \underbrace{\# \wedge \#}$$

$$e^{-\underbrace{\gamma \vee \#} \vee \#} = e^{-\gamma \vee \#} e^{-\#} = \underbrace{e^{-\gamma}} e^{-\#} e^{-\#} \stackrel{\text{ass}}{=} e^{-\gamma} \underbrace{e^{-\#} e^{-\#}} = e^{-\gamma} e^{-\# \vee \#} = e^{-\underbrace{\gamma \vee \#} \vee \#}$$

$$\gamma \wedge \gamma = \gamma = \gamma \vee \gamma$$

$$\gamma \wedge \gamma = \gamma^2 = \gamma$$

$$\gamma \vee \gamma = \gamma + \gamma - \gamma^2 = \gamma + \gamma - \gamma = \gamma$$

$$\underbrace{\gamma \vee \#} \wedge \gamma = \gamma = \underbrace{\gamma \wedge \#} \vee \gamma$$

$$\underbrace{\gamma \vee \#} \wedge \gamma = \underbrace{\gamma + \# - \gamma \#} \gamma = \gamma^2 + \# \gamma - \# \gamma^2 = \gamma + \# \gamma - \# \gamma = \gamma$$

$$\underbrace{\gamma \wedge \#} \vee \gamma = \gamma \# + \gamma - \underbrace{\gamma \#} \gamma = \gamma \# + \gamma - \gamma^2 \# = \gamma \# + \gamma - \gamma \# = \gamma$$

$$o \leqslant \gamma \leqslant e$$

$$\gamma \wedge e = \gamma e = \gamma \Rightarrow \gamma \leqslant e$$

$$\gamma \wedge o = \gamma o = o \Rightarrow o \leqslant \gamma$$

$$\underbrace{\gamma \wedge \beta} \vee \underbrace{\beta \wedge \gamma} = \underbrace{\gamma \vee \beta} \wedge \beta$$

$$\underbrace{\gamma \wedge \beta} \vee \underbrace{\beta \wedge \gamma} = \gamma \beta \vee \beta \gamma = \gamma \beta + \beta \gamma - \gamma \beta \gamma = \gamma \beta + \beta \gamma - \gamma \beta \gamma^2 = \gamma + \beta \gamma - \gamma \beta \gamma = \underbrace{\gamma + \beta - \gamma \beta}_{\gamma \vee \beta} \wedge \gamma$$

$$\begin{cases} \gamma \vee \bar{\gamma} = e \\ \gamma \wedge \bar{\gamma} = o \end{cases}$$

$$\gamma \vee \bar{\gamma} = \gamma \vee \underline{e - \gamma} = \gamma + \underline{e - \gamma} - \gamma \underline{e - \gamma} = \gamma + e - \gamma - \gamma + \gamma^2 = \gamma + e - \gamma - \gamma + \gamma = e$$

$$\gamma \wedge \bar{\gamma} = \gamma \wedge \underline{e - \gamma} = \gamma \underline{e - \gamma} = \gamma - \gamma^2 = \gamma - \gamma = o$$